
First Choice When Quality Matters

NORTH
AMERICA

	Pos	 Code	 Description	 Qty.	

Parts Breakdown

AR North America • Phone: 763-398-2008 • Fax: 763-398-2009 • www.arnorthamerica.com • info@arnorthamerica.com

Legend

Executive TSS - Frame

1

4

5

4

4

4

4

10

4

3

4 4

6

9

32 7

8

9

See Motor

See Pump 

	 1	 2860086	 Yellow casing	 1
	 2	 2860051	 Handle	 1
	 3	 2440070	 Driven gear Ø160	 2
	 4	 2100300	 Screw 5x16	 12
	 5	 2860031	 Left casing	 1
	 6	 1680191	 Fan housing	 1
	 7	 1261570	 Screw 3.9x9.5	 3
	 8	 2860060	 Bracket	 1
	 9	 2440270	 Screw TC M4x20	 4
	 10	 2860021	 Right casing 	 1

Executive TSS - Frame



	Pos	 Code	 Description	 Qty.	

	Code	 Description	 Qty.	
Special Parts / KitsRepair Kits

Parts Breakdown

	Pos	 Code	 Description	 Qty.	 	Pos	 Code	 Description	 Qty.	

First Choice When Quality Matters

NORTH
AMERICA

AR North America • Phone: 763-398-2008 • Fax: 763-398-2009 • www.arnorthamerica.com • info@arnorthamerica.com

Executive TSS - Pump

11

5

33

20

8

7

15

22

23

24 28
21

16
17

15
19

3

1

2

9

30

37

10

7

13

34

18

14

36

25

	 1	 1340260	 Water suction filter	 1
	 2	 2101000	 Screw TCEI M4x15	 2
	 3	 2100630	 Suction fitting	 1
	 5	 550350	 O-Ring Ø23.81x2.62	 1
	 7	 2109051	 Complete valve	 6
	 8	 850850	 Screw TCEI M6x30	 3
	 9	 2020120	 Piston guide Ø12	 1
	 10	 880840	 O-Ring Ø9.25x1.78	 3
	 11	 2123	 Pump head and O-Ring	 1
	 13	 1260760	 Screw TCEI M5x20	 4
	 14	 2219	 Outlet fitting and TSS kit	 1
	 15	 2200140	 Gasket Ø12x20	 6
	 16	 2320080	 Gasket support ring	 3
	 17	 770590	 O-Ring Ø21.95x1.78	 3
	 18	 2560480	 Bushing	 1
	 19	 2320070	 Bushing Ø12	 3
	 20	 1683500	 Seal ring	 3
	 21	 2200210	 Screw TCEI M6x25	 4
	 22	 2020150	 Spring	 3
	 23	 2020130	 Piston Ø12	 3
	 24	 2020140	 Spring plate	 3
	 25	 2021570	 Bearing	 1
	 28	 1680680	 O-Ring Ø95x2	 1
	 30	 1461470	 Click Nipple 3/4” G(F)	 1
	 33	 2220	 Pump assembly and TSS kit	 1
	 34	 394280	 O-Ring Ø12.42x1.78	 1
	 36	 40126	 Suction fitting GHT	 1
	 37	 2101450	 Inlet fitting plate	 1

Legend

Repair Kits

Valves
Kit 2577

7(6)

Pistons
Kit 2734

23(3)

Gaskets
Kit 2687

  5(1)

10(3)

15(6)

17(3)

20(3)

28(1)

34(1)

Executive TSS - Pump



First Choice When Quality Matters

NORTH
AMERICA

	Pos	 Code	 Description	 Qty.	

Parts Breakdown

AR North America • Phone: 763-398-2008 • Fax: 763-398-2009 • www.arnorthamerica.com • info@arnorthamerica.com

Legend

8

9

17

18

19

5

4

3

27

6

7

24

21

22

23

25

26

14

1

Executive TSS - Motor

	 1	 1683920	 Cable	 1
	 3	 2021480	 Gland	 1
	 4	 1682420	 Oil dip stick	 1
	 5	 2000240	 O-Ring Ø5.23x2.62	 1
	 6	 1683820	 Capacitor 80uF	 1
	 7	 850840	 O-Ring Ø62x2	 1
	 8	 1680035	 Motor shield	 1
	 9	 2440320	 Screw 3.5x13	 3
	 14	 2320280	 Switch	 1
	 17	 1680251	 Fan	 1
	 18	 2020850	 Washer	 1
	 19	 1340350	 Seal ring	 1
	 21	 840020	 Seal ring	 1
	 22	 1682110	 Bearing	 1
	 23	 1470870	 Wobble plate	 1
	 24	 2440225	 Capacitor box	 1
	 25	 2029716	 TSS assembly	 1
	 26	 2021960	 Clip	 1
	 27	 44030	 Electric motor	 1

Executive TSS - Motor


